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. Find the solution set of 3>(5x—-7)=(—-22),xEZ
(i) {2,1,0,-1,-2} (i) {0,-1,-2,-3,-4} (iii)) {-1,-2,-3,-4,-5} (iv) {3,2,1,0,-1} (v) {1,0,-1,-2,-3}

Which of the following inequations is not the same as

" (—8x+49)<(8x-7),XEZ

(i) (=24x+27)<(24x-21),x€Z (ii) (16x—18)>(—16x+14),x€Z (iii) (—16x+18)<(1l6Xx—14),xEZ
(iv) (72x—81)<(24x—-21),x€Z (v) (72x—81)>(—-72x+63),xE€Z

Which of the following inequations is the same as
" (—=9x+5)<5x,xEZ

(i) (=9x+5)>(—-30x),x€Z (ii) (54x—30)>5x,x€Z (iii) (54x—-30)>(—-30x),xEZ
(iv) (-9x+5)<(—-30x),x€Z (v) (54x—-30)<5x,xEZ

Which of the following inequations is not the same as
" 5x<(—x+3),xEZ

(i) (=2x+3)<(—-8x+6),x€Z (ii) (m4x+1)<(—-10x+4),x€Z (iii) (10x+8)<(4x+11),xEZ
(iv) 6x<3,x€Z (v) 6Xx<(—8x+6),xEZ

Which of the following inequations is the same as
" (2x=-1)=(9x+1),xEZ

(i) (=12x+6)<(9x+1),x€Z (ii) (-12x+6)>(9x+1),x€Z (iii) (2x—1)>(—-54x—-6),xEZ
(iv) (2x—=1)<(-54x-6),x€Z (v) (-12x+6)<(—-54x—-6),xEZ

Find the solution set of given inequality
" (3x+18)<0,x€Z

(i) {-6,-7,-8,-9,...} (i) {-7,-8,-9,-10,...} (iii) {-5,-4,-3,-2,...} (iv) {-6,-5,-4,-3,...}

Which of the following inequations is the same as
" (=7x-1)<(2x-6),xEZ

(i) (=8x)<(2x—-6),x€Z (ii) (-7x-1)<(x=5),x€zZ (iii) (-7x-1)>(x=5),x€Z (iv) (—-8x)>(2x—-6),xE€Z

(v) (=8x)<(x—-5),x€Z

. The solution set of the inequality (=7x+2)>(-2),x€Zis
() {6,7,8,9,10,...} (i) {0,-1,-2,-3,-4,...} (iii) {1,2,3,4,5,..} (iv) {3.4,56,7,..}

Which of the following inequations is not the same as
" (9x-3)=(-2x),xEZ
(i) (8x=10)=(—-3x-7),x€Z (ii) (14x—-4)=(3x-1),x€Z (iii) (17x=-3)=<6x,xEZ

(iv) (17x=-3)=<(—-3x—-7),x€Z (v) (15x—-12)=<(4x-9),xEZ



10. The simplified form of the inequality (-=7x—2)=(8x+2),x€Zis

(i) x>(—;),x€Z (ii) Xs(—;),xez (iii) x<(—;),x€Z (iv) xz(—;),xez (v) )(2(—4 ), XEZ

11. Which of the following statements are true?

12.

13.

14.

15.

16

15

a) Dividing same negative number on both sides does not change the inequality
b) Dividing same positive number on both sides does not change the inequality

d) Multiplying same positive number on both sides does not change the inequality

)
)
¢) Multiplying same negative number on both sides does not change the inequality
)
)

e) Subtracting same number on both sides does not change the inequality

f) Adding same number on both sides does not change the inequality

(i)

{b.d,e,f} (ii) {c,d} (iii)

{a,

f.b} (iv) {a,b} (v) {a,ce}

Solve the inequation(x—6)<0,x€Z

(i)

{6,7,8,9,10,...} (i) {7,8,9,10,11,...} (iii) {6,5.4,3,2,...}

Which of the following inequations is the same as
(4x+2)<(-3x-1),x€Z

(i)
(iv)

(36x+18)=<(—-27x-9),x€Z

(4x+2)<(-27x-9),xEZ

(i) (36x+18)>(-3x-1),

(iv) {5.4,3,2,1,...}

XEZ (iii) (36x+18)<(—-3x-1),x€Z

(V) (4x+2)>(-27x-9),xEZ

Which of the following inequations is the same as
(5x-5)=<(4x-7),x€Z

(i)
(v)

(9x+2)<(4x-7),x€Z (ii) (5x—-5)>8x,xEZ

(9x+2)>(4x-7),xEZ

Which of the following inequations is the same as
(4x+6)<(8x+1),xE€Z

(i)
(v)

(iii) (9x+2)=<8x,xEZ (iv) (5x-5)<8x,xEZ

11 <(8x+1),x€Z (ii) (4x+6)<(4x+6),x€Z (iii) 11>(8x+1),x€Z (iv) 11<(4x+6),xEZ

(4x+6)>(4x+6),xEZ

Which of the following inequations is not the same as

(i)
(iv)

" (-8x-5)=2x,xXEZ

(=3x—-3)=(7x+2),x€Z

(—x—4)=(9x+1),x€Z

(ii)
(v)

(-3x—-9)=(7x—-4),x€Z

(=3x-9)=(-3x-8),x€Z

(iii) (=13x-13)=(—-3x-8),x€Z



Identify the solution for the inequality
" (=8)<(—x—-7)<3,xEZ
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18. The solution set of the inequality (—x+6)=5x,xEZis
(i) {2,3.4,5,6,...} (i) {7,8,9,10,11,...} (iii)) {1,0,-1,-2,-3,...} (iv) {0,-1,-2,-3,-4,...}

Identify the solution for the inequality
" 2=(7x+6)<15,x€Z
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20. The simplified form of the inequality(—8x+3)=(—-4x+8),xEZis
. 5 .. 3 3 .
(i) xs(—4),x€Z (ii) xz(—z),XGZ (iii) xs(—z),XEZ (iv) x<(-1),x€Z (v) x>(-1),x€Z

)1 Find the solution set of given inequality
" (5x—35)=0,x€EZ

() {7.6,5,4,...} (i) {6,5,4,3,...} (i) {8,9,10,11,...} (iv) {7,8,9,10,...}



23.

24,

25.

Identify the solution for the inequality

=

" (—-8)=(-5x—6)=(—23),xEZ
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Solve the inequation(3x+6)=<0,x€Z

() {-2,-3,-4,-5,-6,...} (i) {-2,-1,0,1,2,...} (i) {-1,0,1,2,3,...} (iv) {-3,-4,-5,-6,-7,...}

Find the solution set of 8 <(8x+8)<20,x&EZ

(i) {-1} (i) {0}

(i) {1}

(iv)

{3} (v) {2}

Which of the following inequations is not the same as
(5x—1)<(—x—4),x€2Z

(i)
(iv)

(11x+5)<(5x+2),x€Z

(—6)<(-6x—-9),x€Z

(i)
(v)

(12x—10)<(6Xx—13),xE€Z

(11x+5)<(6x—13),xE€Z

(iii) (=2x+8)<(—-8x+5),xeZ



Assignment Key

1) (v) 2) (iv) 3) (iii) 4) (v) 5) (v) 6) (ii)
7) (v) 8) (ii) 9) (iv) 10) (v) 11) (i) 12) (iv)
13) (i) 14) (iii) 15) (iv) 16) (v) 17) (iii) 18) (iii)
19) (iii) 20) (i) 21) (i) 22) (ii) 23) (i) 24) (iii)
25) (v)

Copyright © Small Systems Computing Pvt. Ltd.



